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1. 	 ~ ...~~$H1'±'~~~,%H5f1t(ff A~) - *7~l:t.(7~4'-~)Iiil1tIll' ft~~t:t~If1~l& ' ~ 

'f1~&ai{~.'f1~l& 0 [5 11-] 

2, 	 ~«~A••h~.~&OO~.~.~~m~m'~~a~.M*~&~~~~~ 
J(. " [10 11-] 

3, JjtJt!:.h') '±'Jf:t~l ' ft.:ft 478 cm 3 , .±.tl fl 884 g 0 1~*tAi'±'~! fl 830 g , ~ f ~ .i.AZ-~ tp 
3 

0~ft.5f1t~ 418 cm , ifQiff.t~~A;fflIaJZ-~ tp~ft.~~ 616 cm3 1I1j:ti'±'~!l:t. ~ 2.67' 

~1t J.JJiM;.h') '±'~*7~l:t. ' iB;fu & ' .fLf,+: l:t.(void ratio)a:t!:l1t ~&" [15 11-] 

4. 	 ~IJ..Afif iF ' 1Y1 ti.±.Jt ~ iii ~~~ iii (datum) , ~.±.Jt rJt iii A ,16 ~ .±. Jt ~ iii B ~6 ' i: ff 

Jt *1ft iii 11- ]j~ ~ ~~ iii ~ 20 m a 5 m 0 111~ ti .±. Jt e.:it iB;fu , Jt iB;fu "' 1ft fl ~ 
18.87kN/m3 

, i!7~1~tt k ~ 10-4 mlminute 0 

(1) "*' A :lJ; ~ B ~J; ~~ h *ijt , $,% 7~ ijt (total head) a titiJ :lJ; ~ Fa' tfJ 7~h #.t '*(hydraulic 

gradient) 'i1rt.i:*-+~:;?foJ? [13 11-] 

(2) 	 "*,OAB .gtJiii~ffA~J.ilh '.fLf;jt:7~~a A;ffrtJ.ilh ,ft"'dt.':'1ji11-1$IIlJL;f~"t:ttt11? 

[711-] 
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~PJT: ff~~ 

f4E1 : ±!fIj]~ 

5. 	 ~~.:Lhl' :itit!!.Jt .*4~r: -itOt!!.*.~3t!!.r 10m ~b\~Z')'±" 10m ~~ 12m ~~$.5'±' ' 

12m I*lt~r X it.Zj'.±. 0 Jl:c..:L i.li: ~it!!.r 7./({ft:l;:fJJ {ft~ it!!.* ' {it ~ k :t.tap./( '*~ it!!.r 10m 

~lt ' $.5.±./f *~~~ 1.8m JJ~-Pt;1f JJ& ~{t.I!i!J~F.~lflt;fl ' jEljHti~ n~ '±'ilh$'t\: 

~ , ~t*~r : Zj''±'~'Ysat=20 kN/m3 
; $.5'±'~'Ysat=18.2 kN/m3 

, $.5'±'~**i: w==0.4 ' $.5 

'±'~L:c.:t Gs=2.71 ' $,;.±.~~;&;~tt Cv=O.5 m2/hr 0 t!:.1tJ. : 

(1) 	?m7./({it$.5.±.Jt tf*~;1f~~hJ1t:t? [81}] 

(2) $'; '±'~~~.f~ tt Cc=? [12)}-] 

(3) l,;'±'~l!*~tt k=? [5 )}-] 

6. 	 #1t-~:ful.5.±..±.tlll!H 1 .=..1Jl CU .=...$tb1~~ , t!:.~~t*~r *PiTiF(1tl{ft: kN/m
2

) 0 

~... ..*~ ••*~ ••*~~ 
[fj£'I') Mlih!:.) fk:7j(~i<j) 

A 150 192 80 
B 300 341 154 
C ~O 5M n 

11.: 	 'I')!!P cell pressure 0 

r.)!Ip principal stress difference or deviator stress 0 

iti)!Ip pore water pressure 0 

t!:. @J $):"(' r r",~ Jl! : 

(1) 	t!:.fft tiLJ:.i!'="1Jl.'t\:~~;1f ~~h"m!A] ~I/tt! ~~~;..(fft~ ~ - ~1..1:.) 0 [10 )}-] 

(2) 	't\:* til Jl:c.l.5 .±.~~ h 53t&$-tt c' J4~'=? [15 )}-] 
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